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2 t=22+2"7 M 122, 2R#)5,18
y=t>-2at+2a*-2,t>2,a >0.

(i) Hae=2,4 t=aH‘T,Eﬂx=logz&2g'2;ﬁﬂﬂ,



—., RREERBET 3

2
Ymin= €@ -2,
(i) #0<a<2, B y=1*>-2at +2a>-27E[2, + )
R, Y =2 B x =08, yu,=2(a - 1)
{a2-—2 (az=2),
“ Ymin =
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h=4_ 5 {h<a-2/2 o TR,

2
A A7)0 2+4vV2(h-4)+ h—120

(iil) R RRE ST SRR oy Jz‘—“;ﬁ,a >0
B £(2) 20,0 f()7E] -/2 42] 36
4>0 h<2,h>10

h-4
T3 V2 5 {h24+2V2 5 10<h<9+5V2.

f(ﬁ)ao h<9+5Y2
GLER, hE(2, 9+542].
[HBA] AR, ¥ = A MEELR AL RE, &




REALHE SR KRB X 8] LRSS 1 a) 28
Blea THEMLERR LA A0,0),B(8,4),€(4,8),D

(2, ) HTUAHITLTY: ABCD BE LKy = ox( 3 < a<4) 1P

#ar.

(1) H% l:y=ax 5HAB. BC 5 CD Fr B M — 35
WEBERS, A « X5 S;

2) ZHL | BB WBE
ABCD W _% 4 ,i3K o BIME.

(4#r] WmE1-1,HERX 1 5
#Bt BC MI38 &S0 E , M Bl B i 1
JERAABE;TIHL | 5XBCD K
ZRIF,NEROEE R MK
ABCF. 5HZ 13 C Ant,7118 o
B RA.

(&1 Q) ch:_x+y=12,

2 cazant, {77 aspon p(12;,12e),

x+y=12, a+l’a+1

12 24a\
Soge = S(a):——lABI atl a4+l

5
1 1211-2al _24(2a~1)
~/§0 J5(a+1) a+l
42<acant, ]’ mrAR
y=8,
F(ﬁ,s),lm’l:-g——z.
a a

Swinancr = SminHanco — Saapr =32 - % x 8 x (% ﬁz)



6 ppy=)

_8(5¢-4)
=

&"-ﬁ,%<as2,

a+1

&é—a—_ﬂ 2<a<4.
(2) l#}lEliilﬂ‘/ABCD MR %45,

* Swnwasc = 32,

yloagon, B2l

=16,a =
a+1

_’i_‘:2<a<4ﬂfi§a——42 16,a ( ).

s 8(a) =

.h

TN

(] BTHEZL ! 5WMiAH ABCD ARWLTRMANER
[, B 4 SRR, ST AT ABCF W TR o] A 5%
ik T ABCD WTE R S =MJE ADF B Z /M b4,

5 ¥ la, | WBETAARE 0, =" "(nEN,t A%
Bl,e B BAMNBPNIRLY).

(1) RIEHF {a, | B LLEF;

@) £i=2, :kﬁﬁﬂ{lna””}BQ§jclﬁiﬁn§/J\ﬂﬁH*J{E

1999 in
(1) HE] 2 =imm = e (B8, 0y = & i

Gp-1 e
I o, | R "~ HET, e ' AA M HET).

@ (8] 4 ,=5 RBp 1=2,0,- e,

o 2(199-2(n+1)] 4 2
S G=T 009 20 T2 19992021 0995

WA CEHRRXT n KR LLAIRB(nEN). HE 1 -2, 7]




—, BRGAREHET 7

Bi1-2
% 1n-999.5>0,B0 n>1000(n € N)BF, C,Fln i3 AT B
N BT EA

2 .
1000-999.5~

% n-999.5<0,80 n<99(n € N)B, C, HFl n #9H KT

) 2

GEFR MEEARYA

Copn< C,< Ciom,

Al CI BB AKTNR Comp =6, B/PIT Coo = ~ 2, B

2
{Baaet oo gk 6, Bt - 2.
an

(9] BOVHETAR a, 5T HTH — BT H R —
PERBHLER, R RLE R A ABE N REH TR
SEBI | o, | WETAR a,= i+ (n-1)d, 7 0 B, WX
F ool WEH, CHERRBEL EOILE, B2 a,)
BT 0 TR S, = nay + 22100 20 g ot BT n
| CHES ERERR R LI TR PRI 2

2<CoCyp=2+

2.



8 ARE

TREHR AR RERKMBRERE. AR REEET
B, REPRBNERE]F,BAHAEXELEBNE, &
WA REFE ESETRMNMREME, HEAFELER,
MRAYOE G, BAIRA.

Ble THEE f(x)=lop(x+1), 4805 P(x,y)ERHE

y=f(x)MER LK, K Q(%,ny)&ﬁﬁ y=g.(x) AR L
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% 2 €( - +,0) 1, R S(x) M.
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(—] Hhf(x)EREAHFREH f(-2)= - flx),
4 x =0, £(0) =0.

BT Ax)7E[0, + o) L HMEPL H f(5)E R LAHKR
BOAE f(2)7E( - o, 0] E IR, H x>0 B, f(x) =
f(0)=0,x<08, f(x)<f(0)=0. BT f(x)7E R L1 K%K
.

2o f(cos20 -3) > — f(4m — 2mcosf) + f(0).

B f(x) b a k%R, 15

S(c0s20 - 3) > f(2mcosf - 4m).

B f(x)7 R L RMR%, 18

c0s20 - 3>2mcosf ~4m.
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